Calculus BC – Chapter 8 - Even Answers (F.T.D.W.)
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Section 8.3
2. Like problem #1, the plan is 

to break off one sin x when 

there’s and odd number. The 

even-powered remainder is 

expressed in terms of cos x 

using the Pythagorean Identity:

 sin2x + cos2x = 1. First let’s 

make a u-substitution to get rid

of the annoying “
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” (let u = 
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Then du = ½ dx and we have:
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Expand and integrate with the 

reverse power rule! (Okay so I’d 

never make you do all that work!)

You will need to remember that: 
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 which is 

more important than this problem!
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(Can you believe I had to type that!)

4. See problem #2 above! Break off
the odd cos(3x) and don’t forget to 

take care of the u = 3x and du = 3dx.
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6. 
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(We could put the ‘C’ inside the ( ).)

8. Even Powers are worse! You 

have to use the double angle (or half 

angle) formula from trig! Recall: 
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See the cos2x in the 2nd line and the sin2x in line 3?


So substituting for cos2x, we get: � EMBED Equation.DSMT4  ���


and substituting for sin2x, 


� EMBED Equation.DSMT4  ���


Are we still on #8???


� EMBED Equation.DSMT4  ���


� EMBED Equation.DSMT4  ��� = 


� EMBED Equation.DSMT4  ���


� EMBED Equation.DSMT4  ���


� EMBED Equation.DSMT4  ���


� EMBED Equation.DSMT4  ���


Whew!


10. This one uses the other double angle formula:


 � EMBED Equation.DSMT4  ���


� EMBED Equation.DSMT4  ���


12. � EMBED Equation.DSMT4  ���


14. � EMBED Equation.DSMT4  ���


16. � EMBED Equation.DSMT4  ���


18. 2


20. ln 2


22. 8/3


24. –.907


26. 4/3


28. 8


30. � EMBED Equation.DSMT4  ���


32. � EMBED Equation.DSMT4  ���


34. � EMBED Equation.DSMT4  ���


36. ½


38. 0





40. 0 for a, b, c, d, e, 


h, i since the integrands are odd.


The integrand for g is even and positive.


f is even but because of the limits of integration its integral also is 0.


42. g is even, 2/3


f is even, 0


44. Use the Pythagorean Identity 


1 + cot2x = csc2x


46. Let t = -x and then dt = -dx. Then:


� EMBED Equation.DSMT4  ���


� EMBED Equation.DSMT4  ���


� EMBED Equation.DSMT4  ���  QED


48. � EMBED Equation.DSMT4  ���


50. � EMBED Equation.DSMT4  ���


52. 1.301
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